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HETH & Ut i Y i Ut i i i uE i i i
Ik B 2 & 52,718(39,675(39,403| 272| 214| 441|7,448]1,945|2,995| 179 378| 7,042 1,835| 2,752 35 63| 406| 110| 243]|1,589| 842 0| 535| 206 6
Ik BB v7 7,157| 5,366 5,350 16 60 9 549 18( 1,155 60 7| 533 18| 1,155 0 2 16 0 0 81 0 0 81 0 0
KiEh 2,629(1,727( 1,726 1 0 10 529 27| 336 0 5| 486 22| 318 0 5 43 5 18 34 0 0 34 0 0
=Gy 2,119( 1,491 1,490 1 9] 52 477 89 1 6 46| 422 85 0 3 6 55 4 1 19 2 0 8 9 0
ZaR™ 3,089( 2,752( 2,747 5 6 0 284 47 0 3 0| 235 21 0 3 0 49 26 0| 113 57 0 23 33 0
B 1,718] 1,032 1,008 24 25 16 540( 101 4 25 11| 489 93 0 0 5 51 8 4 83 43 0 33 7 0
==F= 31} 946 559 556 3 11 36 264 76 0 7 27| 204 72 0 4 9 60 4 0 24 0 0 24 0 0
EF-r) 526 393 393 0 8 5 107 13 0 6 o| 101 9 0 2 5 6 4 0 27 0 0 15 12 0
R 710| 557| 545 12 8] 25 107 13 0 6 25 95 13 0 2 0 12 0 0 7 0 0 7 0 0
FEH 1,384| 1,094 1,094 0 17 0 138 82 53 17 0| 138 82 53 0 0 0 0 0 15 0 0 13 2 0
BT 1,230| 864| 853 11 9 5 298 54 0 8 5| 296 49 0 1 0 2 5 0| 170| 149 0 20 1 0
EEmsd | 1,369 1,110] 1,110 0 8| 26 771 129 19 8 26 771 129 0 0 0 0 0 19 52 33 0 9 10 0
il 357 1,283( 1,024 1,021 3 0 8 125] 126 0 0 71 111 124 0 0 1 14 2 0 13 0 0 13 0 0
‘BHBRT 3,873 3,445 3,380 65 6| 21 216 185 0 3 71 207 177 0 3 14 9 8 0 82 27 0 27 28 0
"R 1,683 1,226 1,226 0 0 8 362 73 14 0 8| 362 73 14 0 0 0 0 0 18 2 0 16 0 0
R 614 321 321 0 0| 30 213 50 0 0 30| 213 50 0 0 0 0 0 0 9 0 0 9 0 0
BafEm 1,585| 964 964 0 3 3 17 1| 597 3 3 17 1| 597 0 0 0 0 0 10 0 0 10 0 0
MeEET 676 549 549 0 0 6 121 0 0 0 6| 120 0 0 0 0 1 0 0 10 0 0 7 3 0
AET 2,484(2,017( 2,017 0 0 0 291 23| 153 0 0| 291 23] 153 0 0 0 0 0 90 1 0 17 2 0




X 2 hPe S NEFD) (B) + (F) AR (E) ()
fg) Bk TS BEAKES Bk ES ,T{ w |7 | % |2
gﬁwwg%$$§g$$%§w%$$ﬁﬁ§ﬂ12@
. m [ Mk | mEk . mk [ MK | mk . m [ Mk | mk

S AL s s | AL | | AL s s |
METH 4,480] 3,732| 3,602| 130 9 13 511 215 0 9 13| 511 215 0 0 0 0 0 0 81 70 0 11 0 0
Tam 997| 616| 616 0 0 12 266 103 0 0 12| 264 98 0 0 0 2 5 o] 1M 142 0 23 6 0
wEm 843| 402| 402 0 2 5 381 34 19 2 5] 373 34 19 0 0 8 0 0| 124 90 0 17 17 0
I Fg BT 522| 415| 415 0 0 0 55 52 0 0 0 55 52 0 0 0 0 0 0 10 0 0 4 0 6
SEFNET 427| 288| 288 0 2 1 21 115 0 2 1 21 115 0 0 0 0 0 0 7 0 0 6 1 0
BER 493| 251 251 0 4 9 181 31 17 3 9] 154 31 16 1 0 27 0 1 61 37 0 11 13 0
FFHET 496| 310| 310 0 7 9 144 26 0 1 3] 139 26 0 6 6 5 0 0 10 0 0 10 0 0
B~ [RET 233| 101 101 0 3 2 111 16 0 2 105 15 0 1 2 6 1 0 12 6 0 3 3 0
HFET 1,176 941 941 0 5 4 6 18| 202 0 0 4 5 202 5 4 2 13 0 6 0 0 6 0 0
iy 2 HT 287 127 127 0 0 3 43 10| 104 0 1 34 7 0 0 2 9 3| 104 18 8 0 4 6 0
= J\HT 452| 251| 250 1 1 2 85 1 112 1 1 85 1 111 0 1 0 0 1 7 2 0 5 0 0
$EEE I HT 1,460( 1,126| 1,126 0 4 20 270 40 0 4 20 262 40 0 0 0 8 0 0 31 0 0 24 7 0
KEFHET 1,149( 1,010/ 1,010 0 0 27 17 0 95 0 27 17 0 0 0 0 0 0 95 8 0 0 8 0 0
S ERET 1,439( 1,237| 1,237 0 4 15 158 21 4 0 14| 148 17 4 4 1 10 4 0 6 0 0 6 0 0
L A BT 739| 621 621 0 1 4 4 0| 109 1 4 4 0| 109 0 0 0 0 0 8 4 0 4 0 0
IRAET 316| 252| 252 0 0 42 11 11 0 0 42 11 11 0 0 0 0 0 0 1 0 0 0 1 0
= e 2221 173 173 0 0 0 45 4 0 0 0 43 4 0 0 0 2 0 0 17 10 0 3 4 0
JII 3BT 160( 113 113 0 2 2 37 5 1 2 2 37 5 1 0 0 0 0 0 9 3 0 6 0 0
+5RET 74 17 17 0 0 4 51 2 0 0 4 51 2 0 0 0 0 0 0 2 0 0 2 0 0
J\EEET 202 68 68 0 0 0 55 79 0 0 0 51 62 0 0 0 4 17 0 28 11 0 1 16 0
=R 327| 207| 207 0 0 1 103 16 0 0 1 103 16 0 0 0 0 0 0 65 52 0 6 7 0
EAIF 492| 450| 450 0 0 0 37 5 0 0 0 37 5 0 0 0 0 0 0 21 11 0 1 9 0
EEET 591| 456| 456 0 0 5 104 26 0 0 5! 100 25 0 0 0 4 1 0 27 12 0 7 8 0
I=MIES] 66 20 20 0 0 1 37 8 0 0 1 36 8 0 0 0 1 0 0 2 0 0 1 1 0




